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MATP 265 (T2) lIssuc 7

Answer Vey

70 30. A:13x17=221,6x7=42,221-42 = 179 (cm?)
27 P: 2x(13+17)=60 (cm).
24 10cm _7cm
-270 6.cm
-56 13cm 7cm
11 17 cm
11
0 31. 25-(25/5x2) = 15
s 32. 25x(1 -80%) = 5
35 33. 23x2 = 5inches
1024 34. 40/((16/2)x1) =5
1764 35. 84/7x2 =24
2704 36. 2x12 x(1 -3/8) = 15
3844 37. 44-12x(3+1/2) =2
324 38. 24x(1 -1/6) = 20
784 39. 75/(1-3/8) = 120
1444 40. 13/(3-2)x2 =26
. 2304 4. 1/2
956% 42.1/9
529 43. 1/10
A 44. 1/2
}\R 45. 1/2
46. 1/4
47. 1/2
;{ lo 0)\\(2 . 48. 1/3
49. 1/64
| VI 50. 16/25
51. 2in (A) & 7in (B) & 5 in (C) & 8 in (D)
52. 4in (A) & 9in (B) & 3in (C) & 5 in (D)
53. 8in (A) & 7in (B) & 8 in (C) & 5 in (D)
. 'The area of AQRS = basexheight/2=4x4/2=8. 54. 8in (A) & 7in (B) & 4in (C) & 8 in (D)
. The area of APRT=basexheight/2=6x6/2=18. 55. 4in (A) & 8in (B) & 3in (C) & 10 in (D)
The area of trapezoid 1 _
PQSTZ(top-i-bittom)xheight/Z = 10. ig o V10
. (base+top)xheight+2= (8+12)x20+2 = 200 58: 11
- P=(7,5) 59. .064
- Q=(7,-1) 60. .002
- R=(1-1) 61. 10,000
- 5=(L5) 62. 250%
63. 30%x24 = 7.2 =7 hr & 12 min
64. 35%
65. 16
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66.
67.
68.

69.
70.

71.

72.
73.
74.

MAT 265
4.5
17115 .1 _
5x5-6712714 =11/4
156 = 26x6
130 = 26x5

LCM = 26x6x5 = 780
6= =619/48

48
40+8=5
3x5%5 = 75 in?
9x3 = 27 (sum)
27-5-11 = 11 (Chatles)
1121 - 10 = 217 = 21 pi
60°
30020 = 15

(T2)

-10 -

75.

76.
77.
78.
79.
80.
81.
82.
83.
84.
85.

Issue 7
18+60 = 0.3 (hr)
80x0.3 = 24 mi
X2+ 4X - 45
X2- 7% + 10
X2-6X + 5

X> - 4X -5

X2 + 3X - 40
X*-3x- 10
X2-9X + 20
2X% - 15%+27
4x% -9

18X2 +45X - 8
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. 12.25 sq inches

60 feet

120 yards

44 inches

961 sq meters
100 cm

3721 sq inches
60 yards

62 meters

. 46 cm

. 9.00x4.5x3x2 = 243

. 20x(1-55%) =9

. (36x3+ 36/9x4)/4 = 31

16/((16/4)x1) = 4

. 80/5x1 =16

. 2x12x(1-1/3) = 16
. 34-12x(2+2/3) = 2
. 12x(1-2/3) = 4

. 80/(1-1/6) =96

5280x(1 -3/8) = 3300

. 05
. 0.25
. 0.2

0.125

. 01
. 10

N BB~ 01U,

MATP 265 (T2)
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Issue 8

Answer Vey

42.

2

. 0.8

. 8

. 0.4

. 0.08

. 0.04
. 0.02

. 0.25

. 0.0625

1/5
. 16/625
. 20
. 4/5
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81.

82.

83.

84.

85.

86.

MATP 265 (T2) Issuc 8

30 87. AABC = 30 = 3xBHxAC = 3xBHx13
. 10% BH =2 =60/13
I 88. 63.75+5 = $12.75
0035701 89. 19
’Igz: 0 90. 567 (cards)

See the following figure.
54x2 =108

54x3 =6 A B c D
108 + 6 =114
6x5+2 = 15 chords @ @ ° @
60x5% = 60x0.05 =3
60+ 3 = $63.00
Ix6x8 = 24
2+5+10+50+500 = 567
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. -0.5

. -0.25
. -0.2

. -0.125
. -0.1

. -10

. 1089

108,900 + 3,325
= 112,225

. 2809

3969

. 289
. 729
. 1369
. 2209

3249

. 196
. 91 =7x13

2(7 + 13) = 40 cm

MATP 265 (T2

Issue 9

Answer Vey

42.

43,
44,

-11-

400 - 100 = 300
100x53.5 = 5350 yd?.

On the sides, there are 9+5+9+5=28 trees. On the
corners, there are 4 trees. Therefore, the total is 32
trees.

9 trees
O o Y

100 feet

60 feet

5 trees
O
L

5trees

| I R R B B B
9 trees

. ZA=90°, ZB=60°, hence ZC=30°.

/B:/C =2:1

. 120+2 = 60, 60 - 40= 20 (width)
. 40+4 =10
. 40+10 = 50 (new length)

20+10 = 30 (new width)

. 40x20 = 800 (old)

50%x30 = 1500 (new)
the increase = 1500 - 800 = 700 sq. in.

. 60 - 2x15 = 30 (length)

30 - 10 = 20 (width)
30%x20 = 600 in? (atea)

. 50- (50/5x3) = 20
. 20x(1 -85%) = 3

. 3%><2 = 7 inches

48/((16/2)x1) = 6

. 40/8x1 =75

. 2x12 x(1 -5/8) = 9
AT 12x(3+1/3) =7
. 24x(1-5/6) = 4

. 30/(1-5/8) = 80

. 39/(4-1)x1 =13

. 53=51/2

L 32=37/12

12

6.4

. 23 1b =24x16 oz = 36 oz.

. 105min =1 hrand 45 min =13 = 1 3/4 hr
. 240,000

. 3120000

. X=9
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70.

71.
72.
73.

74,

75.

76.

77.

wIN
Nlw

l%xZ

1
96

135%

10

79+8=9R7

7.5+3 =25
2.5x140 = 350 miles

The sum is 36.
Dan is 24 and Anna is 12.
D-A=12

40x60 - 1500 = 900 in?

8
x==4
3

. 40in
— 30in
50in
60 in
1- % - %x% = 3 (unsold)
1-%=3% (sold)
50x2 = 100

MATP 265 (T2
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78

79.

80.

81.
82.
83.
84.
85.
86.
87.
88.
89.
90.

Issue 9

. 8XG6 - 3x4 + (4x6) = 48 - 12+ 12 =48
3in. 5in.
4in7 4in
3in/
6in
2in
8in

P = 2x(13+17) = 60 (cm)

10cm

6cm

13cm 7em

17 cm

1+20%=1.2
1.2x12 = $14.40

X2 - 2X - 35

3x% -10x -8

6X2 +7X+2

X% - 9X+2

18x2 + 51x+8

3in (A) & 7 in (B) & 8 in (C) & 10 in (D)
6in (A) & 5in (B) & 6 in (C) & 9 in (D)
3in (A) & 6 in (B) & 7 in (C) & 10 in (D)
4in (A) & 6in (B) & 3 in (C) & 9 in (D)
4in (A) & 5in (B) & 8 in (C) & 8 in (D)
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